
 

1. fPNo jug;gl;l cUf;fis KOtjpd; gpd;dkhf epow;wpa gFjpiaj; jUf.   

 (1)      (2)     (3)  

     

 

 

 

  (4)      (5)   

 

 

 

2. ‘<, >, =’ Mfpa FwpaPLfisg; gad;gLj;jp ,ilntspfis epug;Gf.  
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3. gpd;tUk; vz;fisf; nfhz;L tpdhf;fSf;F tpil jUf.  

 1> 2> 3> 4> 5> 6> 7> 8> 9> 10> 11> 12 

 (1) ,jid ,U $l;lq;fshf NtWgLj;Jf.  

  (a)      (b) 

 

 NtWgLj;jpa $l;lq;fSf;Fg; ngau; Fwpf;f.  

 (a) ……………………………………. (b) ……………………………………… 

 



4. gpd;tUk; vz;fspd; gz;Gfis vOjp cjhuzk; 2 jUf.  

 (1)  ,uz;lhy; kPjpapd;wp tFgLk; vz;fs;: - 

  ………………………………………………………………………………………… 

 (2) Ie;jhy; kPjpapd;wp tFgLk; vz;fs;:- 

  ………………………………………………………………………………………… 

 (3) gj;jhy; kPjpapd;wp tFgLk; vz;fs;:- 

  ………………………………………………………………………………………… 

5. (1) 24,d; fhuzpiag; ngUf;fy; Kiwapy; jUf.  

  ………………………………………………………………………………………… 

 (2) ckf;;Fj; njupe;j jsTUf;fs; %d;wpd; ngaiuj; jUf.  

  (a) ……………………….. (b) ………………………… (c) ……….…………. 

 (3) gpd;tUk; jrkq;fspd; ngWkhdk; ahJ? 

  (a) 0.25 + 0.5 = …………………….  (b) 1.43 + 2.21 = …………………… 

 


